the cH7)s F BEasl

o
@ 0.333-- O %
© ® 13
@ 1.9276309108- - @ %
7
2%
@37H @47H @57H @67H ©77H




2.

Fed=t,

S

Vg e AA5E 7

@ 5 ® 6 @7 ® 9

@ 3



3. axy*x(xy) =-3xy"Ld W}, q, b, ¢S] F2?

Da=-1,b=-2,¢c=3 @ a=-3,b=-4,¢c=3
@ a=4,b=-2,¢c=3 @ a=3,b=3,c=4

®a=-3,b=3,c=4



® 6x?
x? + 10xy — 5y?

@ 5x*
x2 4 10xy — 5y?

@ 622
x% + Txy — 5y?



5.

(15x2 + 9xy) = 3x + (25y2 — 5xy) + by

@® 4x+8y @ 8x+4y

@ 10x+ 8y ® 14y



mlo
of
2
o)
2
2
|
9
iy
117
=)
Mo
>
©
i
Mo
N
N,
i)
)
)
Mo
Y
o

@ 6x2x [ |= 2443 O (2x)2x[  |=8x®
© 16x°+ I:]: 4x8 ® 249+ x"+ I:]: X

® 0,0 ® 9,06 ® O 0
ON@NC) ® 6,®



oS F A A7 e 2] Yat o shus?

D (@) +a® @ a?xa?

3
@Clxa @a2+a2+a2+a2



1 2 1
8. §x2+2— 5}62 + {x— (§x2 —3)” =ax’+bx+c oA AT a, b, ¢

SN &a+b+c @2?

| Ot

11 1
@ -2 @ -% ® 5 @



X

12(36—12x):Ax2+BxE}§fq1,A—BQ%k%?

%(12x+ 24)

@1 @ 2 @ 3 @ 4 ® 5



- —2y+1 B
10. 4= B= % oW, 4A - 6B Z x, y of T Ao
e
@® 4x+2y-2 @ 2y-2 @ 4x-2y+2

@ -x+4y+3 ® x-4y+3



3
ZOM. olwl, a + b o] F2? (10 <a<20)

@ 43 ® 48 @ 55 ® 59

O 34



— (25 olet. x+y o] 3L T3}

@ 10 ® 12



13. 23+ 1)+D)B*+ 1)+ 1) =3*+bLd W, AT a, b Fa+b
o] k27

® 15 @ 16 ® -15 @ -16 ® 9



@ 5.33

el = A = xS 25 B Akksho

RE ZE B3 AAESe] 0.786 ©] it

® 5.34 @ 5.35 ® 5.36



J

mO

o, (10xy - 15y%) = 5y* €]

@ -3 ® -2

o

@ 1



